FFR T RE—Z KB RC %

2022. 10. 23 I]#&E

[ & ¥ )
25m 50m 100m 200m
20+| & HEAN [GETS) 11.47] mm)Il FX | (BZBER) 2229 £k tHE | AN-I98FE) 53.76] Mgk S5k | (BILE4EFT) [ 1:57.88
25+ & HEAN | (BIBER) 11.47] —xERA | (EEET) 2419] —kERBEN | (E&ER1T) 52.70] JIldt #EF | (BIr&4ERR) | 2:02.88
30+| Wi B |(EFEFGAKK)| 1166] BERE FE | (HMAOFESS) 23.18] HIR 5& | (HMAOFESS) 51.34] Bl H& | (M WPESS) | 1:49.17
35+( HE B |(EFEEFBKK)| 1141 BR BE | (HHOFESS) 2359] HIE HE | (M PESS) 5093] B H& | (HHMESS) [ 1:48.93
40+| & JHR (H&sSS) 1221 @A & (JACSERA) 24421 BR HE (FPRSR) 55.99] &=L B | (BRFAiHKIk)| 2:05.22
E 45+| BHH ME [((BARAHKES)| 1299 A8 #HE | (Pa17L) 25.88] AA WE | (Paqo) 57.30] =L ZFBH | (BRFABKK)| 2:07.18
iz [50+]| KA ES® | An—)FHKEH)| 1306] FFH EE (TAPHE) 26.49] =H BEE (TAPEK) 5797 FH EE (TAPHLE) | 2:11.03
55+ & HE | An-H4F/HE)| 13.13] KW ER | An-4FKH) | 28.02] A =k |(AAHEBGEE)| 1:0384] #A £k |(AXEBERE)| 2:26.19
60+| #1L EHE | (v<IKH)| 1355 A ERF (23K i) 30.09] Mk "2z (FPRSR) 1:08.13] /#k B2 (F7rSR) 2:30.55
65+| 210 R | (v XKHEH)| 1439 BER B (a42)L) 3063] BER B (Da42)L) | 1:0950] #k BWE | (USUFEH) | 24422
70+ E# Bk (FHAFIKIZR) 14.68] BER #) (aq12a)L) 31.44] BER B (Caq2)) | 111139 =H Bk (FHAEIKIZR) | 2:49.38
75+ &iE FBE (2ARESP) 15.96] /Mt FEFE | (WAYVAESIE)|  34.60] F1H 5hZ (JS5Uf=5) | 1:2011| 1A 5h— (Y5 f=5) | 2:55.32
80+ || KE =4ni#| (R/8\—285)1)| 16320 KE =%0if| (R/8—9&5)11) | 37.48] B E/_ER | ()SUI=5) | 1:2487] 4t Bsar | (ByTE&FH) | 3:13.30
20+| AT ERAE | (WYqvhERD) | 1329 R B (JACSER) 2400] FEIB 28k | (BRFIKFKIK)| 5857
25+| fEUE 28 |(BRFEEGAK)| 1373 B HA | ARn-HF/HE) | 2707] FE #3% | (WRFEFGKK)| 57.82
30+ & EAN | (AN-HFE)| 1325 E HEA |(AN-HFHRE)| 2755 & OEAN | AV-9FHKA)| 1:00.61
35+|| E OEAN |ANHFHKEA)| 1347 B OEN | AW-4FKE)| 28.13] £ HH | (AnN-4FE) | 1:07.02
Lo [40+[1/Mk fRER)  (SCHBE) 1447] AR #E | (BIBMERT) | 2804 i BRE (By7’8K) | 1:05.21
;';’( 45+| 1RER 1E3T | (WY | 1469 REE 3 | (WYqvhER) | 3046 BEEE X | (WYqyhER) | 1:08.00
;5 50+ KW ES | AW-H9FHKE)| 1528] KN EFR | AnN—9FHKHE)| 3200 HX & | (TrybrRE3L)| 1:13.26
55+| KA IEHR | (AN-9FE) 1525 KA EFR | (AN-IFE) 3158] & = (BIL&ERT) [ 1:15.30
60+| &k = (B3 84ERR) 16.30] $&k = (B8 ERR) 3473 &k % (B8 4ERT) [ 1:17.29
65+| A1 R [ (vl AH)| 17.02] #lU #E | (vl AMB)| 37.12] #lU #EE | (vYIILUAH)| 1:2552
10+|| EE BE (2ARESP) 18.88] && HE (IXESP) 131 & BE (IRXESP) 1:33.16
75+ &iE BE (IRESP) 18.66] =& FE (aARESP) M| B8F WBE (IRESP) | 1:34.39
80+|| KE =40M| (R/3N—085)I1) | 2067 KE =40 | (R/\—584)11) | 4352 KE =404 | (R/S—H84)11) | 1:42.39
20+| BE & (IRESP) 13.76] AKR#T FO4E (TR3R) 28.67] A+t Fost (7R3R) 1:02.55
25+|[ KR& F04s (Fr3R) 13.65] A#T Ft (Fh3R) 29.35] A# Foa (FR3R) 1:04.21
30+| /AR | (WYwhERT) | 1442] ER B (TR3R) 30.46] A0 HE | WAHVAKE) | 1:08.72
35+ /AR B | (WYqvh R | 1445] BiE HEBF | (HHAOESS) 3046| 548 E— | (BIH/EFT) | 1:10.32
L |40+ A0 FSE | (Wr¥VAKFE) | 1468| B HAE (FHSR) 31.12| #0 Fs | (W4¥YAKF) | 1:09.84
fk 45+ &0 HE | WavuakE) | 1494 50 HE | WaFUAKkE) | 3225] A0 HE | WAHVAKE) | 10961
= |50+ B0 JEE | WAFYAKFE) 15.30] A0 5 | WrYYAKE) 3230 RH EZE | AN-HIFE) | 1:22.16
55+| & H® (HSS) 15.71] &EB B | WrYVAKE) 3415 EdA B | (WAHVAKE) | 1:16.87
60+| & Hm | AN-HIEE) 1648] & HH= |(An-9F4ME)| 3670 &= = | AnN-9FHKHE)| 1:23.48
65+ {FEE Rl (YSVf=5) 18.03] FiE Al (V50 f=5) 3891 FEE Rl (JSUVt=b) | 1:27.92
70+ FE R ()W =b) 19.04] FiE Rl (JSWI=H) 42.36] FEE Ml (JSWI=5) | 1:34.46
75+ R Rl (YSWf=5) 19.80] F#E Rl (V50 f=5) 4326| 1FEE R (JSUE=H) | 1:39.46
80+ B E/ZRZER | (USVI=H) 22721 HE/ZER | ()SUV=b) 4850) B L& —ER | (USW=k) | 1:54.44




FWRTRI—XiEKBE R EE

2022. 10. 23 |/#&E

[ B F ]
25m 50m 100m 200m
20+| EiZ RE (Fr3R) 12.51] ™Il A | (BILE4EFR) 2461| FIE 8k | (BFAFKK)| 57.16
25+| & EAN |AN-H9FRE)| 1241 K W= (a42)L) 25.95] —E&EREAN | (HEFEER1T) 56.85
30+ HiE B | (BFEEKK)| 1274 KB #HFE (EKK) 2650] #2K H= (342)L) 58.98
185+ B OEA | AnFHKE) [ 1273] HIR FE (Fr3R) 2784 548 E— | (HII®AEFT) | 1:01.89
N a0+ A FIE | (USUFEB) 1288] EH# BE (2v7SC) 2787 418 E— | (A& | 1:0267
g 45+ Fr R & (B L& ERT) 13.72] FH EE (Av7SC) 28.34] =H BE (AvySC) 1:05.10
5 |50+ Fy % AR | (HIIRIERT) 1367] FI HA&E [ (P347)) 2881 il & | (v~ UhE)| 1:12.85
4 |55+ KN IERE | An—9FHKHE)| 1429 KRN EXE | AnN-9FHKHE)| 3059 #K & (SCHBEM) 1:20.44
60+| AZIL R [ (vl AH)| 1491 /Nt EEEE |(WrYUAESE)| 32.25] BEIRE &) (342)L) | 1:19.68
65+| AH #HE [ (USVIB) 15.35] BER B | (P340)) 33.38| BER &1 | (Paq7J)L) | 1:24.15
70+| /hith FRER | (WAYVAESIE)| 1574 BEERE B (aq12a)L) 33.63] {FiE Ml (Y5 F=5) | 1:33.90
75+ | /it EREE | (WAHVAEAIE)| 1671 /Nt BERE | (WY UAESIE)|  36.18] F1H 5A= (Y50 f=5) | 1:39.59
80+ fEH = (50 f=%) 19.58] FIH 5h— (YZVf=5) 4539] EXR [EiE | (VSUVFb) [ 1:4741
20+ AAT Foast (ZFSR) 59.42| M WAt | WAYVAKE) | 2:15.06
25+ ik B | AnV-H9FE) | 1.0003] = HA | (BII&ERR) | 2:11.87
30+ #2E K= | WartvaKE) | 1:.0465| LR KXE | An-HFE) | 2:13.95
@ |35+ Mk A (Fr3R) 1:03.50] FI E& AN—HFE) | 22173
A [40+ 518 BE— | (BHXX&4ERT) | 1:05.65 FiH BE (#vy7SC) | 2:2058
A | 45+ mH EE (% 7SC) 1:06.92] FH BT (2Y7SC) | 2:2448
F |50+ nH EE (TAPHK) | 1:0490] =H EE (TAPHUK) | 2:27.27
LI/ 55+ & Hx (th&sSS) | 11295 & H= (th:ss) | 2:47.32
60+ w2 (B &err) | 111893] =AM A | An—9FHKHE)| 3:11.03
65+ AH H (UZW=6) | 1:2555] AH #HE | (USU=k) | 3.09.14
70+ AR OEE | (JS07h) | 1:2626] EA EE | (USU=H) | 3:16.91
75+ BAR OBE | (J)SUkk) | 1:2970] EA BiE | (USUFEH) | 3:2273
80+ EAR BE | Gn-93E) | 1:36.83

R




